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A4 29,880,937 27,274,307 2,606,630
2 150,000 150,000 0
2 4,085,000 4,085,000 0
s 815,000 0 815,000
= 2,075,500 2,075,500 0
x 500,000 0 500,000
2 22,285,437 20,993,807 1,291,630
o= | 7,320,840 6,770,840 550,000
2 150,000 150,000 0
= 140,000 140,000 0
= 267,500 267,500 0
2 6,763,340 6,213,340 550,000
ote Rzl 2,977,400 2,427,400 550,000
2 150,000 150,000 0
2 140,000 140,000 0
S 267,500 267,500 0
2 2,419,900 1,869,900 550,000
NeoHE R 1,870,000 1,320,000 550,000
401 Al HIR 2 CHH| 1,870,000 1,320,000 550,000
01 Al&t| 1,870,000 1,320,000 550,000
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2% 20,000,0002 % 110H4 220,000 20,000 00,000
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2 3,815,000 3,815,000 0
= 500,000 0 500,000
= 230,000 230,000 0
x 500,000 0 500,000
2 12,402,697 2,017,697 385,000
2 AR 1,085,931 1,085,931 0
= 500,000 0 500,000
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PE45H HEASE e 1,000,000 1,000,000 0
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=& Fdl ALY 8,728,987 8,528,987 200,000
s 3,815,000 3,815,000 0
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A 4,733,987 4,533,987 200,000
=& FAE= 3,513,987 3,313,987 200,000
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= 50,000 50,000 0
o 2,615,355 2,465,355 150,000
SHEEZ SEIAIY 1,765,355 1,115,355 650,000
= 50,000 50,000 0
o 1,715,355 1,065,355 650,000
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= 50,000 50,000 0
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E 100,000 100,000 0
= 315,000 0 315,000
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401 AIEHI L SO 930,000 890,000 40,000
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= 315,000 0 315,000
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